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= Year 7/8    = SPACE    = Worksheet 5
	[image: image1.png]1. Point A is 2 km East and 3 km North from point O. What is the location of point B from point O?
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	2. The following diagram shows a seating plan. Use a letter and a natural number to label the shaded seat. The first seat on the left of each row in numbered 1.
Row C

Row B

Row A


	3. In how many ways can a person travel forwards from point P to point Q. The grid lines represent paths.  
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	4. Point E has coordinates (2,(2). Find the coordinates of point F.                                           y
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                                          0                       x
                                                     ( E

	5. The scale used for the drawing of a 4 m long and 3 m wide rectangular room is 1 : 100. What are the measures of the length and the width of the drawing in cm?
	6. If the scale used for the drawing of the 4 m long and 3 m wide rectangular room is changed to 1 : 50, what are the measures of the length and the width of the new drawing in cm?


	7. Use a ruler to measure the shortest distance of point X from the straight line in mm.
                                             ( X

	8. Draw lines showing the shortest path from point C to a point on the line and then to point D.         ( D

                             C (
                      

	9. Specify the direction of point R from point O using compass bearing.
                                                                            N
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	10. Use a protractor to measure an angle. Specify the direction of point G from point H using compass bearing.
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                                                         N
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	11. Refer to Q10. What is the compass bearing of H from G?
Refer to Q9. What is the compass bearing of O from R?


	Numerical, algebraic and worded answers only.


1.  5 km East, 1.5 km South


2.  B5


3.  6 ways


4.  ((3,2)


5.  4 cm and 3 cm


6.  8 cm and 6 cm


7.  21mm, the perpendicular


     distance


9.  S71oE


10.  N(oW


11.  S(oE, N71oW
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